Max Marks : 100

ALL INDIA TRADE TEST - 2025 FOR CRAFT
INSTRUCTOR TRAINING SCHEME - ENTRANCE
EXAMS
Trade Name: Computer Software Application
Year: 1st Year

Exam Date :
Exam Time :

Note:

1. Tick the correct option out of four alternatives provided
2. All questions carry equal marks (1 Marks each)

3. There is no negative marking

Negative

A . . |
No. QID Question Body and Alternatives Marks Marks

TRADE THEORY
1 Default file extension of word pad is ........c.coeeeeuee 1.0 0.00

78 U8 A BIEd B fShTee ToReTH |TR?

Al : txt
xt

A2 xtf
rtf

A3 : .doc
.doc

A4 gif
.gif

TRADE THEORY
2 Shortcut key for displaying time and date in potepadis................ 1.0 0.00

Freds # HH R BLaE Ahe ol THT AMRfEHTD B UeriRid H37 & forg v gt 32

Al:F2
F2

A2 :F4
F4

A3 :F5
F5

A4 :F3

TRADE THEORY
3 Quick launch bar will be added by default in............cccooveneenee 1.0 0.00

Bl o9 SR EBIee ¥ J el il 82

Al : Left side of the notification area

Afefebar & b 1% 3R

A2 : Right side of the start button

e g & a8 3R

A3 : Middle of the task Bar
TP IR B aa |




A4 : Top of the desktop
T IR D IR

TRADE THEORY

The meaning of arrow symbol in an icon is..... 1.0

3TSH H T Udieh o1 1 31 72

Al : Shortcut

A2 : Desktop symbol
BT Tt

A3 : Link

A4 : Quick launch symbol

[CEASIEREIES 1

TRADE THEORY

A system program to execute more than one applications at a time is called.................... 1.0

H 1 RieH U T 9 31 TR &t frsifee o3 & forg vt g &2

A1l : Multitasking
HedTeT&pT

A2 : Multiprogramming
Hed! gt

A3 : Memory Management

A4 : Multi threading

et AT

y TRADE THEORY

Name of the function key for selecting multiple files'tfandomly. 1.0

DI T G ol T F HTABTISel 1 =a- P & 1Y ST gIeit 82

A1l : Shift + Click
Shift + Click

A2 : Ctrl + Click
Ctrl + Click

A3 Alt+ Click
Alt#Click

A4 : Tab + Click
Tab + Click

TRADE THEORY

Which is the first program that run on a computer while the computer boots up? 1.0

$ER TR T aTell Ugell T B 91 § 5id R §¢ gl 8

Al : System software
A2 : Operating system

A3 : System operations

0.00




11

11

A4 : Application software
RIEEERN

TRADE THEORY

Which one of the following is an example of operating system?

0 A P TP TR ReA 1

Al : Microsoft Word
e I8

A2 : Microsoft access
A3 : Desktop
A4 : Microsoft windows

TRADE THEORY

An example of hybrid computer is...

Al : Personal computer

WA YR

A2 : ECG
ECG

A3 : Transistor

X

A4 : Spectrometer

X

TRADE THEORY

Which one of the following is an exar;ple of bro;ser software?

7Y I P T FTSOR FHeITR BT IGBI 87

Al : Windows explorer

A2 : Microsoft Publisher

A3 : Microsoft Front page
e U

A4 : Internet Explorer

TRADE THEORY

Al : Erase character to the left of the cursor

HIR P 15 3R vl fiyeH & forg

A2 : Erase character to the right of the cursor

HIE P 1 3R F vl fireH & forg

0.00

0.00




12

14

12

14

A3 : Erase the whole line

3 orE ! firer & frg

A4 : Erase the left word of the cursor

B & §1Y g B e & ferg

TRADE THEORY

In the year of 1833 charlesbabage invented a machine called..............

1833 A AT TIT T oo, =i &1 fIspR foam?

Al : Analytical engine
Analytical engine

A2 : ENIAC
ENIAC

A3 :EDVAC
EDVAC

A4 : EDSAC
EDSAC

TRADE THEORY

Which command is used to close all window OS?

i sififer Ries &1 5 B3 & o1 D1 Tt HHTS BT UGN foha S 82

Al : Close
Close

A2 : Shutdown
Shutdown

A3 : Exit
Exit

A4 : Reset
Reset

TRADE THEORY

The hybrid computer can accept th; dat; ind...

A1l : Analog input

A2 : Digitalinput

&T4C

A3 : Analog and digital input
T SR f$foed $7ge

A4 : Key input

Pl §79e

TRADE THEORY

Which device enables a magnetic ink reader to recognize the character for input to the computer?

P9 Ot fEarey duger & 399e & fore 9uf &1 ugarA & o geeia Wie! T3 Bl Tem R g2

Al : MICR
MICR

A2 : OCR
OCR

1.0 0.00
1.0 0.00
1.0 0.00
1.0 0.00




17

18

19

17

18

19

A3 : Scanner

A4 : Punch card

TRADE THEORY

Which optical device is used to examine each character one by one?

B9 It 3iifPerd fEarey &1 IuaIT ude quf &) Siem & forg fbar sirar 82

Al : MICR
MICR

A2 :OCR
OCR

A3 : Scanner

A4 : Mouse
HISY
TRADE THEORY
Expansion of ASCIT is.................
ASCII &1 fawaiRd U B
A1l : American Standard Code for Interactive Interface
American Standard Code for Interactive Interface
A2 : American Standard Code for Interaction Interchange
American Standard Code for Interaction Interchange
A3 : American Standard Code for Information Interchange
American Standard Code for Information Interchanige
A4 : American Standard Code for Instruction Interchange
American Standard Code for Instruction Interchange
. 7 TRADE THEORY
Name of logo key is....... .m.
TN T BT AH..... e gl
Al : Window key.
A2uSpecial key
=
A3 : Function key
TR @\_ﬂ
A4 : Escape key
TRADE THEORY

Which is the background of all windows and icons appear?

g 3R S S TS eI g 2

Al : Layout
Layout




20

21

22

23

20

21

22

23

A2 : Front Page
Front Page

A3 : Home page
Home page

A4 : Desktop
Desktop

TRADE THEORY

Which button is used to enlarge the window to fill the entire desktop?

S0 Y B I 9eq Sl [Ave) B WA F R M g 8 2

Al : Minimize
Minimize

A2 : Restore
Restore

A3 : Close
Close

A4 : Maximize
Maximize

TRADE THEORY

Which is a small graphical representation of an application?
ST A B WA AMfthes RO TRl & 2

Al : Menu

A2 : Shortcuts

A3 :Icon

3MSHT

A4 : None

P TR

TRADE THEORY

Al_sProgram

A2 : Operating system
SR

A3 : Source file

A4 : Language

TRADE THEORY

A1l : Input device

e

1.0 0.00
1.0 0.00
1.0 0.00
1.0 0.00
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25

26

27

24

25

26

27

A2 : Output device
3T3eYe fearsd
A3 : Hardcopy device

A4 : Softcopy device

TRADE THEORY

Computer system is made up of................

A1l : Circuit and programs
Tfde ok v
A2 : Software and programs

A3 : Hardware and software

A4 : Hardware and circuits

TRADE THEORY ¢

Al : 11
11

A2:10
10

A4:12
12

TRADE THEORY

The safe and proper,way of removing the existing software from the computer is

PR W WG EITR Bl e BT TaT 3R TR qiehT BT T 72

Al Deleting
Deleting

A2 : Uninstalling
Uninstalling

A3 : Disabling
Disabling

A4 : Removing
Removing

TRADE THEORY

The two ways to arrange multiple windows on the desktop are.........

P I G TP SWheld R IS &1 Fa1fyd HeA & forg ST 1A 3 2

0.00




28

29

30

31

28

29

30

31

Al : Cascade and Tile
Cascade and Tile

A2 : Vertical and horizontal
Vertical and horizontal

A3 : Minimize and maximize
Minimize and maximize

A4 : Drag and drop
Drag and drop

TRADE THEORY

What is the feature to reverse the last action?

3ifer foban Y Teren & o &1 T BHiS &1 UaT ST 2

Al : Copy
Copy

A2 : Cut
Cut

A3 : Redo
Redo

A4 : Undo
Undo

TRADE THEORY

Which one of the shortcut key is used to open the find dialog box in window?

P ) Aiche Holt BT TN Bigs ST ST BT 3T BHa.b T Bl 8 2

Al:F2
F2

A2 :F4

A3 :F3
F3

A4 :F5
F5

TRADE THEORY

Al :cps
cps

A2 :dps
dps

A3 :Lpm
Lpm

A4 : ppm
ppm

TRADE THEORY

Which of the following arithmetic operator in C language takes only integer operands?

Tt avide § g erfiifee offex # A B 1 b quifes 3ifi¥s dar 2

0.00




32

33

34

32

33

34

Al : Addition operator
Addition operator

A2 : Subtraction operator
Subtraction operator

A3 : Division operator
Division operator

A4 : Modulus operator
Modulus operator

TRADE THEORY

In flowchart, which symbol denotes decision making operation?

T $1F 91 udie T o9 & e e g &

Al

A2

\

A3

A4

TRADE THEORY

The memory device in the third generation computers is.......

AR i) & HogeR ARt fEarsy ... ]

A1l : Vacuum tubes
Vacuum tubes

A2% Transistors
Transistors

A3 : Integrated Circuits
Integrated Circuits

A4 : VLSI4
VLSI4

TRADE THEORY

Which menu contains style gallery command to preview the desired template?

e &1 ey 3 & fore e &b ot w s fad A 32

Al : File
File




35

36

37

38

35

36

37

38

A2 : Format
Format

A3 : Edit
Edit

A4 : View
View

TRADE THEORY

How the background image that appears behind the text page is called?

ot et & 01 & Wi fewars 3 areht B3 &) Jar et T 8

Al : Template

A2 : Bench mark

CERicy

A3 : Water mark
qex A1

A4 Gra%}_;i:al background
E 3.;3

How does a section break appear in the document?

T § Yo 9 I A aidi 82

Al : Thick dark line

HIe STeh Ag

A2 : A dotted line

figgea amea

A3 : Double dotted line

A4 : A dark straight line

e RS

=

Where does the multiple pages button is present?

TeRIue Ul e el HINE 87

Al": Standard toolbar
Standard toolbar

A2 : Print preview toolbar
Print preview toolbar

A3 : Window menu
Window menu

A4 : View menu
View menu

The shortcut key for cut the selected file is...

Al :CTRL+A
CTRL+A

TRADE THEORY

TRADE THEORY

TRADE THEORY
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40

41

42

39

40

41

42

A2 : CTRL+C
CTRL+C

A3 : CTRL+X
CTRL+X

A4 : CTRL+V
CTRL+V

TRADE THEORY

What is the size of standard A4 paper landscape dimension?

Ao A4 TR JSTBY STTH BT THR T 2

Al:210x 297 mm
210 x 297 mm

A2:857x 117
8.57x 117

A3:297 x 210 mm
297 x 210 mm

A4:117x 8.5”
117 x 8.57

TRADE THEORY

What is the letter portrait page dimension?

31&R 2 gy mam w g2

Al:857x11”
8.57x 117

A2:117x 8.5”
117 x 8.57

A3:8.57x8.5”
8.57x8.5”

Ad4:117x 117
11" x 11”7

TRADE THEORY

Which view is used to maximize the typing area?

TSI A SRiHaH B B 1T B A Y BT ITTEIAR 2

Ad': Master Document
Master Document

A2 : Page layout
Page layout

A3 : Outline view
Outline view

A4 : Full screen
Full screen

TRADE THEORY

What is the default font and size of a word document?

T ST P fSWTee e 3R 3MHR FTE?

Al : Times New Roman, 8
Times New Roman, 8

0.00
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44

45

46

43

44

45

46

A2 : Times New Roman, 12
Times New Roman, 12

A3 :Arial, 10
Arial, 10

A4 : Arial, 12
Arial, 12

The memory capacity of the 3.5 inch floppy disk is.....

3.5 5T WUl S0 B TARY 8T oo,

Al:1.2MB
1.2MB

A2 :1.44MB
1.44MB

A3 :1.44KB
1.44KB

A4:1.2KB
1.2KB

What is the expansion of LAN?

LAN &1 fowala &0 = 82

A1l : Local Area Network
Local Area Network

A2 : Line Area Network
Line Area Network

A3 : Large Area Network
Large Area Network

A4 : Least Area Network
Least Area Network

To display the date and'time'in Linux , the command is

o § f&re iR S ) eRid s & o ...

Al': date
date

A2 : now
now

A3 : today
today

A4 : time

time

In linux operating system CD stands for.........

oo smfen Rrew & cp #1 31f &

Al : Compact Disc
Compact Disc

TRADE THEORY
1.0
I
TRADE THEORY
1.0
TRADE THEORY
....... 1.0
............................... HHIS BT ITAT BT |
TRADE THEORY
1.0

0.00
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48

49

50

47

48

49

50

A2 : Change Disc
Change Disc

A3 : Change Directory
Change Directory

A4 : Computer Disc
Computer Disc

TRADE THEORY

What should be done on the OVR status indicator to toggle between overtypes and insert mode using mouse?

3faREIT 3R AISY BT IUANT HR U STaH AIS F s SHTA PR & oy SiidtarR Rl Gaes uR 3 fasan s =nfgwe

Al : Click
Click

A2 : Right click
Right click

A3 : Double click
Double click

A4 : Drag
Drag

TRADE THEORY
What is the advantage of flow chart?

TRAETE BT | 2

A1l : Easy to modify
Easy to modify

A2 : Step by step method
Step by step method

A3 : Identify the data quickly
Identify the data quickly

A4 : Standard symbols
Standard symbols

TRADE THEORY

Which relational operator isused to test for equality?

B 1 ReReT ${TTeR THAT & 1T IuainT fa oirar 82

Al: <=
<=

A4 >=
>=

TRADE THEORY

Al : 1024 bytes
1024 bytes

0.00
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52

53

54

51

52

53

54

A2 : 1 Mega bytes
1 Mega bytes

A3 : 1024 Giga bytes
1024 Giga bytes

A4 : 1 Kilo bytes
1 Kilo bytes

TRADE THEORY

Al : Monochrome monitor
Monochrome monitor

A2 : SVGA monitor "
SVGA monitor

A3 : Gas plasma display monitor
Gas plasma display monitor

A4 : VGA monitor
VGA monitor

TRADE THEORY

The interconnecting of two or more computers in a single room is called.... 1.0

T HIR T &l A1 Y SR HIER & IRER JSTd Bl F1 Hed 82

Al:LAN
LAN

A2 : WAN
WAN

A3 : MAN
MAN

A4 : SWAN
SWAN

TRADE THEORY

Al : Instance Protocol

A2 : Internet Protocol

A3 : Internet Provider

A4 : Internal Protocol

EMEN]

TRADE THEORY

Which view apart from the master document view allows the user to work with master document? 1.0

TReR XAl €% & 37QTaT I | T IUTNThd! ! AR XATA! &b 1Y BTH PR BT AT 1 8

Al : Multiple view

|

0.00




55

56

57

58

55

56

57

58

A2 : Normal view
ARAT Y

A3 : Condensed view

FeRH

A4 : Expanded view

A

TRADE THEORY

Al : Commerce
Commerce

A2 : Computer
Computer

A3 : Commercial
Commercial

A4 : Company
Company

TRADE THEORY

If you have not changed the shortcut key settings, which function key will allow/you to check the spelling of your complete 1.0
document?

gmmﬁwwmﬁmﬁ,ﬁﬁﬁwwmmwmﬁaﬁaﬁmm%ﬁ&rfri%f

Al:FS
F5

A2 :F7
F7

A3 :F6
F6

A4 :F8
F8

AV TRADE THEORY
What is the purposeiof the flow chart symbol ¢? 1.0

TAETE Ul 0 T I H1 82

Al : Input

¥Tqc

A2 : Output

3M3TYe

A3 : Processing
TR
A4 : Decision making

TRADE THEORY

The compiler can detect the type of error is...... 1.0

PIITR T8 Ul TN THal ¢ [ IR BT UpR 7T g2
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60

61

62

59

60

61

62

Al : Syntax error

Ric TR

A2 : Run time error

I CRATR

A3 : Logical error
TR

A4 : Latent error

AT TR

TRADE THEORY

The process of isolating and correcting the errors is called.......

et B S1eT SR Sl IR Bt Uik T I T Fgd 87

Al : Program testing

TS usteror

A2 : Program debugging

N

A3 : Program efficiency
TR S8

A4 : Program execution

RS &1 fee

TRADE THEGRY',

Which command can be used to perform actions repeatedly?

39 HHTS BT IUANT IR-IR BT PR & forg [cwe poit . L..... gl

Al : Redo
Redo

A2 : Rewrite
Rewrite

A3 : Undo
Undo

A4 : Replace
Replace

TRADE THEORY

The shortcut key for executing the program in C language is........

Tt east 5 v P Frfed $37 & fg 2icede Fofl ........ gl

Al : Ctrl+F9
Ctrl+F9

A2 : Shift+F9
Shift+F9

A3 : Alt+F9
Alt+F9

A4 : Alt+F5
Alt+F5

TRADE THEORY

Which toolbar contains button to insert bullets into the document?

B T TR BT SUANT §Aey Bl 39 & 7 {31 =T 32

0.00
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64

65

63

64

65

Al : Formatting
A2 : Standard
A3 : Picture

A4 : Drawing

TRADE THEORY

Which menu contains the Save As option to save the file in different name/location?

P G AL BTIA Bl ST ATH T R T Y9-T $HR1 F [T ST 81 82

Al : Edit

e

A2 : File
BiRd

A3 : Tools

[

A4 : Insert

TRADE THEQRY

The statement used to terminate the control from the loop is.......s

U e g $39 & U S i Rede B STargldl ol

Al : break
1§2 : continue
A3 : goto

A4 : exit

TRADE THEORY

The. function used to convert the lower case character into upper case in ¢ language is.............

i el H B T AR 3R Y BT 3R Y Haex A gaeq & 1w IuanT gl g2

Al : toupper ()
QW)

A2 :strupr ()
LW

A3 :isupper ()
OISR ()

A4 : strupper ()
TR0

TRADE THEORY

0.00

0.00
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67

68

69

66

67

68

69

The function used to check wheather the given input is number or not in ¢ language is.........

T S H P19 I AR BT ST S 3 o fobar Sian § 3 e e sge ek € ar e

Al :isalpha ()
IUAPT ()

A2 :isnum ()
RUH ()

A3 :isdigit ()
gaifsfere ()

A4 : todigit ()
R )

TRADE THEORY
What option should be selected for printing the document from the last page to first page?

Sifad U1 ¥ Uy U 0 STagiic ! fiie o3 & forg o fased g1 o anfge?

Al : Collate pages
Praie U

A2 : Reverse print order

oz fiie sitsx

A3 : Back to back printing

I T 9 fife

A4 : Draft output

_ARADETHEORY

A variable that holds the memory address of another is called::..... s

TP TR S gOR B AAR] BT TSy AT & 99 ... Ahed ¢l

Al : Array
A2 : Memory

A3 : Pointer

A4 : Header file
TR BEA

TRADE THEORY

In C language open an existing file for reading and writing can be done in file mode named as.......

S H BT3d B Uer 3R g & o ST fpan mn gl A SY BRA BT HIS T4 ... Sl

Al:r
T

A2t
+

A3 w+t
w+

A4 :at
a+t

0.00

0.00
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71

72

73

70

71

72

73

TRADE THEORY

Users to view and manipulate basic system settings,adding hardware,removing softwares and controlling user accounts are used to

Al : Windows explorer

IS TR

A2 : Control panel

X

A3 : Network settings

A4 : Desktop

TRADE THEORY

In linux operating system the essential command binary files are kept in the directory of ...........

o SiTRfET Ren & a0 AR BRAD ............ ST A @ ST 2|

Al : /bin
/bin

A2 : /lib
/lib

A3 : /sbin
/sbin

A4 : /usr/lib
/ust/lib

"% TRADE THEORY

Modem does not respond if you try to dial out.you trysanother modem on another computer and get the same result. What is the
most likely problem?

Tiew ufaferan et 3T § afe S STIe SM3e.avd 7| Al SHT0 gk HTER TR N1 AISH S1Ud HRd § 3R U &) uiony
BT o T T 3

Al : Defective modem

HISH

A2 : Defective computer

EIoqUf HrCR

A3« Software bug

A4 : Bad phone line
TR BIF Al

TRADE THEORY

Which protocol is used to E-mail transmission across the internet?

B Y U1l T STAN $TIAT TR §-Ha o0 & forg fopam Sireim &2

Al:FLP
FLP

A2 : SMTP
SMTP

A3 : UDP
UDP

1.0

1.0

0.00




A4 : TCP/IP
TCP/IP

TRADE THEORY
The C language includes the header file standard input & output in..........

T AT WSS TTYC 3R 3MSHeye D I 7SR BIsd ¥ IaT1 82

Al : Stdlib.h library
Stdlib.h library

A2 : Stdio.h library
Stdio.h library

A3 : Conio.h library
Conio.h library

A4 : # include library
# include library

TRADE THEORY

MS Access is an example of.............

Al1:0/8
O/S

A2 : DBMS
DBMS

A3 : Utility
Utility

A4 : Virus
Virus

__— NUK_/IE_RITCAL ABILITY AND REASONING

What is the value of 21 + 496 ~ 16 =?

21 + 496 + 16 T M g1

Al:51
51

A2:52
52

A3:53

A4 :54
54

NUMERICAL ABILITY AND REASONING
What is the value of 3232 + 4848 - 4242 =?

3232 + 4848 - 4242 P HIA dId Ea

Al:3535
3535

A2:3636
3636

A3:3737
3737




78

79

80

81

78

79

80

81

A4 : 3838
3838

NUMERICAL ABILITY AND REASONING
What is the value of (26 x 22) + (27 x 9)?

(26 x 22) + (27 x 9) T HH SR

Al:815
815

A2:816
816

A3:817
817

A4:818
818

NUMERICAL ABILITY AND REASONING
What is the value of (3440 + 16) x (286 + 13)?

(3440 + 16) x (286 + 13) BT AM I3

Al:4720
4720

A2:4730
4730

A3 : 4740
4740

A4 : 4750
4750

__— NUK_/IE_RITCAL ABILITY AND REASONING

Doctor is related to patient in same way teacher.is related to.....

STeeX TR & T Q I e Rigie grafid §

Al : Education

A2 : Hospital
S ESRIN}

A3 : Student
A4 : School

NUMERICAL ABILITY AND REASONING

Tailor is related to pant in same way cobbler is related to.....

TR G § U ¥ I oRE A SR @

Al : Cloth

A2 : Leather
qHST

0.00
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83

84

85

82

83

84

85

A3 : Shoes

A4 : Shop

NUMERICAL ABILITY AND REASONING

What is the value of (6650 + 50) x (169 + 13) =?

(6650 + 50) x (169 + 13) = T HH FT 82

Al1:1723
1723

A2:1725
1725

A3:1727
1727

A4:1729
1729

NUMERICAL ABILITY AND REASONING

What is the least number to be added to 5328 to make it a perfect square?

5328 A Y HH 7 ST WY b 98 ot avf &1 oy

Al :4
4
A2:3
3
A3:2
2
Ad:1

NUMERICAL ABILITY AND REASONING

What is the average weight of all tﬂe 6 goys, Tf the body weight of 6 boys recorded as 21Kg, 27Kg, 33Kg, 40Kg, 47Kg and 54Kg? | 1.0

TR 6 TSP BT ToTPHT21Kgl 27Kg, 33Kg, 40Kg, 47Kg, 54Kg 3R 68Kg & o 3T 3iTd I o1 g

Al:36Kg
36 Kg

A2:37Kg
37Kg

A3 :38Kg
38 Kg

A4:39Kg
39Kg

Mr.Ganesh purchased Fridge for Rs 32,000 and sold it to Rs 40,000 what is the profit percentage?

NUMERICAL ABILITY AND REASONING

oft TTOIRT 3 Fridge ¥ 32,000 H WRIGT HR T 40,000 H 1 @t ArH UTI=Id 918y

Al :10%
10%

A2:15%
15%

0.00
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87

88

89

86

87

88

89

A3 :20%

20%
A4 :25%
25%
NUMERICAL ABILITY AND REASONING
What would be the simple interest obtained an amount of Rs 6000 at the rate of 12% annum at the end of 2 years? 1.0

T 6000 DT 12% TTMVH &R F 2 T8 BT JIYRU] ST TASY

Al :Rs 2160
Rs 2160

A2:Rs 2170
Rs 2170

A3 :Rs 2180
Rs 2180

A4 :Rs 2190
Rs 2190

NUMERICAL ABILITY AND REASONING
An almirah is sold at Rs 6204 after allowing a discount of 6%. Find its marked price? 1.0

T 3R B 6% FSTHIBE & TG 6204 T B o1 T ST Fafgd e (MRP) Fa1Sd

Al : Rs 6500
Rs 6500

A2 : Rs 6600
Rs 6600

A3 :Rs 6700
Rs 6700

A4 : Rs 6800
Rs 6800

NUMERICAL ABILITY AND REASONING

Ram deposited Rs. 9000 with a financé company for 2 years at an compound interest of 10% per annum. What is the amount that 1.0
ram gets after 2 years?

I T, 9000 TP WIZA B I 2 T8 P 10% TP &R T STHT BRI 2 T U= Fshaci T Iarsd

Al :Rs 10,830
Rs 10,830

A2+ Rs 10,850
Rs 10,850

A3 :Rs 10,870
Rs 10,870

A4 :Rs 10,890
Rs 10,890

NUMERICAL ABILITY AND REASONING

30 men can complete of a piece of work in 20 days. How many more men must be required to complete the work in 15 days? 1.0

30 3MTEH T B 20 foT T R Gavd B 1 I HTH B 15 737 A g0 53 & o fvay sredt ok @ uday

Al:7
7
A2:8

0.00




90

91

92

93

90

91

92

93

A4:10
10

NUMERICAL ABILITY AND REASONING

What distance does he travel everyday, If a person runs 9 km in 30 days?

3R U AR IR g § 9 Km T & o Ufafe fpamt gt u dxar g

Al:300 m
300 m

A2:310m
310 m

A3:320m
320 m

A4:330m
330 m

NUMERICAL ABILITY AND REASONING
What is the value of 1971 +91 x 15?

1971 + 91 x 15 BT HF T2

Al:3335
3335

A2 :3336
3336

A3:3337
3337

A4 :3338
3338

NUMERICAL ABILITY AND REASONING

What is the area of square, If'the perimeter of square is 536 cms?

3R forelt ol o1 ufvHy 536 Y. © Al ST QB o1 BN

Al : 17936 cin?
17936 cni

A2, 17946 cm?
17946.cm?

A3 : 17956 cm?
17956 cm?

A4 : 17966 cm?
17966 cm?

NUMERICAL ABILITY AND REASONING

24 men can complete a piece of work in 12 days in how many days will 36 men complete the same work?

24 1 T M BT 12 37 H G R bl 7, I B &1 36 3} fvam faft A g vy

Al : 8 days
g fa

0.00




94

95

96

97

94

95

96

97

A2 : 9 days
9fe=

A3 : 10 days
10 fa=

A4 : 11 days

11 &

NUMERICAL ABILITY AND REASONING

What is the speed of a train, If it covers a distance of 180 Km between two stations in 2/ hours?

3R P12 180 .1, BV g8 214 9 T &) RIFT 77 Bl § T SHB! Tl ATy

Al : 70 Km/hr
70 Km/hr

A2 : 72 Km/hr
72 Km/hr

A3 : 74 Km/hr
74 Km/hr

A4 : 76 Km/hr
76 Km/hr

NUMERICAL ABILITY AND REASONING N

What is the value of 91 + 416/8?

91 +416/SBTHM G 2

Al1:123
123

A2:133
133

A3:143
143

A4:153
153

NUMERICAL ABILITY AND REASONING

Flower is related toRose i the same way as vegetable is related to...

BT TR 8 s § Jeoi WA &

Al L Apple

A2 : Carrot

A3 : Root
g

A4 : Stem
GEL

NUMERICAL ABILITY AND REASONING
What is the cost of 8 Kg of Apples, If the cost of 4 Kg of apples are Rs 500?

4TH T AT H I %. 500 A1 8 7571, TS F1 e argd

Al :Rs 700
Rs 700




98

99

100

98

99

100

A2 :Rs 800
Rs 800

A3 :Rs 900
Rs 900

A4 : Rs. 1000
Rs. 1000

NUMERICAL ABILITY AND REASONING
What is the total number of books in the book shop. If 35% books are in Tamil, 45% books are in English and the remaining 100 1.0
books are in other languages?

Tt g A 35% faaTal affre B ], 45% forda sRielt A § 31k R 100 e gt Ul A 8 & oo fSrare &) Tem
Fargd?

Al:300
300

A2 :400
400

A3:500
500

A4 : 600
600

NUMERICAL ABILITY AND REZSONING
25% of a number is 500. What is 50% of that number? 1.0

3R foh it T BT 25% = 500 © T I IAHT DT 50% FT I

Al:850
850

A2:900
900

A3:950
950

A4 :1000
1000

\ NUMERICAL ABILITY AND REASONING
What should comenext in the alphabetical serics ACFHK M PR U W? 1.0

3MESfeR RIS A C FHK M PR U W 3TET 31&R 01 gRT?




Computer Software Application

-No. Correct Answer Key
1 A2
2 A3
3 A2
4 A1
5 A1
6 A2
7 A2
8 A4
9 A2
10 A4
11 A1
12 A1
13 A2
14 A3
15 A1
16 A2
17 A3
18 A1
19 A4

20 A4

21 A3

22 A1

23 A1

24 A3

25 A4

26 A2

27 A1

28 A4

29 A3

30 A1

31 A4

32 A3

33 A3

34 A2

35 A3

36 A3

37 A2

38 A3

39 A3

40 A1

41 A4

42 A2

43 A2

44 A1

45 A1

46 A3

47 A1

48 A2

49 A2

50 A3

S.No. Correct Answer Key
51 A1
52 A1
53 A2
54 A2
55 A3
56 A2
57 A4
58 A1
59 A2
60 A1
61 A1
62 A1
63 A2
64 A1
65 A1
66 A3
67 A2
68 A3
69 A2
70 A2
71 A1
72 Ad
73 A2
74 A2
75 A2
76 A2
77 A4
78 A1
79 A2
80 A3
81 A3
82 A4
83 A4
84 A2
85 A4
86 A1
87 A2
88 A4
89 A4
90 A1
91 A2
92 A3
93 A1
94 A2
95 A3
96 A2
97 A4
98 A3
99 A4
100 A4






